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IMPROVEMENT/SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part — 111 Time : 2% Hours
PHILOSOPHY Cool-off time : 15 Minutes

Maximum : 80 Scores

/ General Instructions to Candidates : \

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.
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10.

Answer all the questions from 1 to 8. Each carries 1 score. B8x1=98)
Name the Greek Philosopher who coined the word ‘Philosophy’ for the first time.

(a) Pythagoras (b) Thales

(¢) Socrates (d) Aristotle

Identify the subject of the following proposition.

‘Some chemicals are medicines’.

Immediate inference is classified into and opposition.
(a) Education (b) Syllogism
(c) Hypothesis (d) Subaltern

The word ‘experiment’ is derived from the Latin word, ‘experimentum’, which means

Which among the following method is related with one’s habitual belief ?
(a) The method of authority (b) The method of intuition
(c) The method of tenacity (d) The method of science

The word ‘causality’ is derived from the Latin word ‘causa’, which means
When a theory is proved to be true with reference to facts it becomes a

(a) Law (b) Hypothesis

(c) Research report (d) Interpretation

The symbols used in modern logic includes constants and

Answer any S questions from 9 to 14. Each carries 2 scores. (5x2=10)

Define philosophy.

‘If you work hard then you will succeed’ is a hypothetical proposition. Identify its
constituent parts.
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11.  What is inductive leap ?

12.  Define hypothesis.

13. A simple proposition has two possible truth values. Which are they ?

14. Differentiate primary data and secondary data.

Answer any S questions from 15 to 21. Each carries 3 scores. (5x3=15)

15.  Complete the following chart :

Symbols Name of proposition Example
A Universal Affirmative All men are mortal
E
|
0)

16.  Write the rules of conversion.

17. Prepare a chart on the requirements of sound observation.

18. Define postulates of induction and list out the three postulates of induction.

19.  What are the advantages of J.S.Mill’s method of Agreement ?

20. Write any three characteristics of good hypothesis.

21. List out the qualities of a good research.

Answer any 3 questions from 22 to 26. Each carries 4 scores. Bx4=12)

22. Prepare a chart showing the differences between mediate inference and immediate
inference.

FY-841 4



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

@RYVANBTO H)THlaf af)AMOOLIND ?
alBlH|NeQ M@0 lEe)d:.

830) fIgl® ®AHH QIGIOTIM CLIWNINW EME VOE@ MEIYEBUWD ((S)BTMAILIL)
MO0 7 @OA! aBO@E00.

(@10100]l B> BomEBE)o B3G5 BOMEBR) ®ERIG3 QY@ PAVO|S)TTND.

IS 2®ed 21 aeowss  ¢asynglad  o@gee®les S afgpomila’
DAMOOAY) ). 3 ¢apoA afl®o. (5x3=15)

21)016)S OBIS)IHNBENAMN 21008 )BT WL :

aflamo ®RANAIDYOTNO A Gald DBI2O0&Me
A avAaIaiPall AlwId.o All men are mortal
E
I
)

2Bl EDMONO A WDABBUD af)9 @)

830} mgl ASlaMIMOTING  @RAINDIEAIDWIROE  TVoNITWISNAN 21083
@WINILN ).

@WANOBIOAE  @rslavnom  aveelEnd  MIdQlafla), Man  @RSITLOIM
TUBL[EBOBW)o oISl |S)OTND .

022.00)aV 2lefload @MIQEITIWOS CADDHUB af)OTDE0 ?
830} MEJ aIBlHG3a|MAP COITE aBO@EILN0 MAN TVANECRDDHUB af) ).

80} ML VEAIUMATIMINEOVBIEHHME NEMEIBUD alFIHea[SITT)D:.

22 2@ 26 008  GalBIEBSEI0l  ago®Blene 3 ag)gRovi®’
DAMOONY) ). 4 ¢aPOA afl®o. Bx4=12)
QAIYQUaFI®IMAIM AN @A Sl ®IMAIMANO @2l enss Q@0 Vo
DUBOHHIVS)AM 630) 21087 OWWONIEE) .

EIEEI
h e I8
[=]e" 5 P.T.O.



23.

24.

25.

26.

27.

28.

29.

30.

31.
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34.

35.

36.

Explain the figure of categorical syllogism.

Explain the characteristics of scientific observation.

Aristotle identified four types of causation. Explain.

Define implication and construct a truth table for implication.

Answer any 3 questions from 27 to 31. Each carries S scores. B x5=15)
What is hypothetical syllogism ? Briefly explain two kinds of hypothetical syllogism.

What is fallacy of mal-observation ? Briefly explain individual mal-observation and
universal mal-observation.

List out the five experimental methods of J.S.Mill and explain any one of Mill’s
experimental methods.

List out four types of hypothesis and explain any one of it.

Define research and prepare a chart on the steps involved in research.

Answer any 2 questions from 32 to 34. Each carries 6 scores. 2x6=12)
Explain distribution of proposition with the help of Euler’s Circle.

Define opposition of proposition and construct square of opposition.

What is scientific method ? Explain the steps of scientific method.

Answer any 1 of the questions from 35 to 36. Each carries 8 scores. (1x8=8)

Write the definition of Logic given by creighton and write an essay analyzing the
definition.

Write an essay on the rules of categorical syllogism.
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